Mot-TT time diff.

hdiff_0

Entries

10°

107

I L L B O B I I L L L B M ean

RMS

8625

2.643
10.46

-500 400 300 200 100 O 100 200 300 400 500

diff time [nsec]




Rb-TT time diff.

hdiff_1

Entries

AT rrrrrryrrrr [t T T T T T T T M ean
10 RMS

8625

-17.35

5.076

-500 400 300 200 100 0 100 200 300 400 500

diff time [nsec]




Rb-M ot time diff. hdiff_2

Entries 8625
I O Y O I B B [T T T T [T T T T[T T T T[T M ean -19.99
RMS 10.76

=
o
w
T T
ol |

107

................. I .

10 =
-500 400 300 200 100 0 100 200 300 400 500
diff time [nsec]




TT spill interval

(10/0/=oMRNN R
90 '
80
70
60
50
40
30
20
10

II|IIII|IIII|IIII|IIII|IIII|IIII|III;I|IIII|IIII|
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

100020003000400050006000 700080009000



